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An ideal monatomic gas is taken round the rectangular cycle ABCD as
below

P A(2P,V) B (2P, 2V)
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» Vv
The work done during the cycle is .................
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If one mole of monatomic gas (y=5/3) is mixed with one mole of
diatomic gas (y=7/5), the value of y for the mixture is ..................
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A spherical black body with a radius of 12cm radiates 450 watt at 500K.
If the radius were halved and the temperature doubled, the power radiated
in watt would be .................
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A gas mixture consists of 2 moles of oxygen and 4 moles of argon at
temperature T. The total internal energy of the systemiis ...............
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In a given process on an ideal gas, dW=0 and dQ<0, then for the gas .......
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An ideal gas initially at P;V; is expanded to P,V and then compressed
adiabatically to the same volume V; and pressure Ps.1f W is the net work
done by the gas in complete process then correct option is ...............
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A spherical body of area A and emissivity €=0.6 is kept inside a perfectly
blackbody. Total heat radiated by the black body at temperature T
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When an ideal diatomic gas is heated at constant pressure, the fraction of
the heat energy supplied which increases the internal energy of the gas
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The temperature of an ideal gas is increased from 120K to 480K. If at
120K the rms velocity of gas molecule is v, at 480K it becomes ............
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5.6 litre of helium gas at STP is adiabatically compressed to 0.7 litre.
Taking the initial temperature to be T, , the work done in the process
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In a simple harmonic oscillator, at the mean position ..............
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If a spring has time period T and the spring is cut into n equal parts then
the time period of each part will be ...............
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Starting from the origin a body oscillates simple harmonically with a
period of 2 sec. After what time will its kinetic energy be 75% of the total
energy ..occeeenenn.
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In forced oscillation of a particle the amplitude is maximum for a
frequency w; of the force while the energy is maximum for a frequency
o, of the force, then ...............

A3 FNF I e (FE [IF o1 97 50 FEF R M6 0 -7 T

An observer moves towards a stationary source of sound, with a velocity
one fifth of the velocity of sound. The percentage increase in the apparent
frequency will be ...............
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A sound absorber attenuates the sound level by 20dB. The intensity
decreases by a factor of ................
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A cylindrical tube, open at both ends, has a fundamental frequency f in
air. The tube is dipped vertically in water so that half of it is in water. The
fundamental frequency of the air column is now .................
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Three sound waves of equal amplitudes have frequencies v-1, v, v+1
respectively. The of beats produced per second when they
SUPErPOSE .............
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A string is clamped at both ends and it is vibrating in its 4" harmonic.
The equation of the stationary wave is Y=0.3 sin (0.15x) cos (200xt). The
length of the string is .............
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A concave mirror for face viewing has focal length of 0.4 m. The distance
at which you hold the mirror from your face in order to see your image
upright with a magnification of 5is .................
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Two coherent monochromatic light beams of intensities | and 41 are
superposed. The maximum and minimum possible intensities in the
resulting beam are ...............
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A concave lens of glass, refractive index 1.5 has both surfaces of same
radius of curvature R. On immersion in a medium of refractive index
1.75, it will behave as a .............
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In a compound microscope, the intermediate image is .................
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A point object is placed at the centre of a glass sphere of radius 6 cm and
refractive index 1.5. The distance of virtual image from the centre
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A convex lens is in contact with concave lens. The magnitude of the ratio
of their focal length is 2/3. Their equivalent focal length is 30 cm. Their
individual focal length are ................
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Two thin convex lenses of focal lengths 20cm and 25 cm are placed
coaxially 5 cm apart. Their equivalent focal length is ...............
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An achromatic converging combination of focal length 60 cm is formed
with a convex lens of crown glass and a concave lens of flint glass placed
in contact with each other. Calculate their focal lengths if dispersive
power of crown glass is 0.03 and that of flint glass is 0.05 .............
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A beam of white light is incident on glass air interface from glass to air
such that green light just suffers total internal reflection. The colours of
the light which will come out to air are .......................

6 (Y@ TP© FIGF 3 IO FOEGEE AUl AEF IANTeld Affes Te
M FIS AN (FI o Aow@dld qfewead 27| (T F®FT AN I IO

A ray of light travelling in water is incident on the surface open to air.
The angle of incidence is ©, which is less than critical angle. Then there
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A biconvex lens of focal length 15 cm is in front of a plane mirror. The
distance between the lens and the mirror is 10 cm. A small object is
placed at a distance of 30 cm from the lens. The final image is ...........
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